Roadway Name	Curbs	Sidewalks	Length	Width	Sq. Feet	Sq. Yds	Age	<u>Drainage</u>	Rating	Alligator	Longitudal	Transverse	Rutting	Patching	General Comments	Date Inspected
2ND ST	No	No	685	20	13700	1522.2	16+ Years	Poor	Poor	High	Low	Low	Medium	High	Widening, re-routing, and Full Depth Reclamation (FDR)	11/16/2017
ARBOR ROSE AVE	Yes	Yes	2024	34	68816	7646.2	16+ Years	Excellent	Excellent	None	Low	None	None	None	Crack seal and Micro-surfacing	11/16/2017
BAILEY LN	Yes	Yes	811	34	27574	3063.8	3-5 Years	Excellent	Excellent	None	None	None	None	None	Micro-surface	11/21/2017
BERNHARD AVE	Yes	No	641	31	19871	2207.9	16+ Years	Good	Poor	High	Medium	Medium	Low	Low	Scratch, fabric, and overlay	11/16/2017
BIRCHLAND AVE	No	No	1763	22	38786	4309.6	16+ Years	Poor	Poor	Medium	High	High	Low	Medium	Widen, overlay, and drainage	11/21/2017
BLOSSOM TRL	Yes	Yes	1547	34	52598	5844.2	16+ Years	Good	Good	None	Medium	Low	None	None	Crack seal and Micro-surfacing	11/16/2017
BRIDGE BLVD	Yes	Yes	667	33	22011	2445.7	0-2 Years	Excellent	Excellent	None	None	None	None	None	Micro-surface	11/21/2017
BRUCE AVE	No	No	1585	18	28530	3170.0	0-2 Years	Poor	Good	None	None	None	High	None	Overlay 3-5 years, reconstruction in future	11/21/2017
CEDAR LN	No	No	515	19	9785	1087.2	11-15 Years	Good	Fair	Low	Medium	Low	None	Low	Crack seal immediately and overlay	11/16/2017
CHARLAN BLVD	Yes	Yes	1309	34	44506	4945.1	3-5 Years	Excellent	Excellent	None	None	None	None	None	Micro-surface	11/21/2017
CHARTER LN	Yes	Yes	1137	30	34110	3790.0	16+ Years	Poor	Poor	High	High	High	High	Medium	Reconstruction needed as well as drainage	11/30/2017
CHESTNUT ST	No	No	211	24	5064	562.7	16+ Years	Good	Good	Low	None	None	None	High	Crack seal	12/7/2017
CHOCOLATE AVE	Yes	Yes	747	34	25398	2822.0	16+ Years	Good	Poor	High	Medium	Medium	Low	High	Mill, fabric, and overlay	11/30/2017
CHURCH ST (from Keinath to N Plum)	Yes	Yes	625	34	21250	2361.1	16+ Years	Good	Good	None	Low	Low	None	Medium	Crack seal and micro surfacing	12/6/2017
CHURCH ST (from N Angle to Orchard)	Yes	Partial	1314	34	44676	4964.0	16+ Years	Good	Poor	Medium	Medium	Medium	None	Medium	Crack seal, micro surfacing	12/6/2017
CHURCH ST (from N Plum to N Angle)	Yes	Yes	924	34	31416	3490.7	16+ Years	Good	Good	None	Low	Low	None	Medium	Crack seal and micro surfacing	12/6/2017
COLONY LN	Yes	Partial	445	30	13350	1483.3	16+ Years	Good	Fair	High	Low	Medium	None	Low	Mill, fabric, overlay	11/30/2017
COLUMBIA AVE (from Pinkerton to S Market)	Yes	Yes	850	34	28900	3211.1	16+ Years	Good	Good	Low	Medium	None	None	Low	Seal coat/micro surface	11/30/2017
COLUMBIA AVE (from S Market to S Barbara)	Yes	Yes	1296	34	44064	4896.0	16+ Years	Fair	Poor	High	Medium	Low	Low	Low	Mill, fabric, overlay, and drainage	11/30/2017
CONCORD ST	Yes	No	763	25	19075	2119.4	16+ Years	Good	Poor	High	Medium	Medium	Low	Medium	Mill fabric overlay	12/1/2017
CORNERSTONE DR	Yes	Yes	1200	34	40800	4533.3	6-10 Years	Good	Fair	None	High	Low	None	Low	Micro surfacing /seal coat, Crack sealing	12/1/2017
CREEKSIDE LN	Yes	No	774	30	23220	2580.0	11-15 Years	Good	Poor	Medium	High	Medium	None	Medium	Mill fabric overlay Crack seal	12/1/2017
DAVID ST (from New Haven to W Donegal)	Yes	Partial	971	21	20391	2265.7	11-15 Years	Good	Poor	High	Medium	Medium	None	Medium	Mill overlay fabric, treat like an alley from lumber to church	12/1/2017
DAVID ST (from S Comfort Alley to New Haven)	Yes	No	604	21	12684	1409.3	6-10 Years	Good	Excellent	None	None	None	None	None	Micro surfacing or seal coat	12/1/2017
DELTA ST (from Marietta Ave to Cul-De-Sac)	No	Partial	1768	34	60112	6679.1	11-15 Years	Fair	Good	Low	Low	Low	None	Low	Seal coat/micro surfacing	11/30/2017
DETWILER AVE	Yes	Yes	1221	25	30525	3391.7	16+ Years	Fair	Poor	Low	High	Medium	None	High	Mill, fabric, and overlay Crack seal	12/6/2017
E DONEGAL ST (from Marietta to Market)	Yes	Yes	178	30	5340	593.3	11-15 Years	Good	Good	None	Medium	None	None	None	Crack seal & Microsurface	1/10/2018
E DONEGAL ST (from Longenecker to Barbara)	Yes	Partial	1903	34	64702	7189.1	16+ Years	Good	Good	None	Medium	Low	None	Low	Base repair, Crack seal, micro surfacing	12/6/2017

<u>Roadway Name</u>	Curbs	Sidewalks	Length	<u>Width</u>	Sq. Feet	Sq. Yds	<u>Age</u>	Drainage	Rating	Alligator	Longitudal	Transverse	Rutting	Patching	General Comments	Date Inspected
E HENRY ST	No	No	628	18	11304	1256.0	16+ Years	Fair	Poor	High	High	High	High	High	Train station reconstruction project	12/6/2017
EBY CHIQUES RD	No	No	1213	24	29112	3234.7	16+ Years	Good	Good	None	Low	None	Low	None	Suggest widening, crack seal	12/6/2017
ELLA DR	Yes	Yes	256	34	8704	967.1	3-5 Years	Excellent	Excellent	None	None	None	None	None	Crack seal and micro surfacing	12/6/2017
FARMINGTON WAY	Yes	Partial	1503	34	51102	5678.0	3-5 Years	Excellent	Excellent	None	None	None	None	None	Crack seal and micro surfacing	12/6/2017
FARMVIEW LN	Yes	Partial	1461	34	49674	5519.3	16+ Years	Good	Poor	High	High	High	Low	High	FDR	12/6/2017
FLORIN AVE (from dead end to DSR)	Yes	No	428	31	13268	1474.2	16+ Years	Fair	Poor	Medium	Medium	Medium	Low	Medium	Crack seal and micro surfacing, possible mill fabric overlay	12/6/2017
FLORIN AVE (from DSR to School Ln)	Yes	Yes	998	30	29940	3326.7	3-5 Years	Good	Excellent	None	None	None	None	Low	Crack seal and micro surfacing	12/6/2017
FLORIN AVE (from School Ln to Borough Line)	Yes	Yes	1629	34	55386	6154.0	16+ Years	Good	Good	High	Low	None	None	None	Crack seal and micro surfacing	12/6/2017
FRANK ST	Yes	Partial	1134	26	29484	3276.0	16+ Years	Good	Good	None	Low	None	None	Medium	Crack seal and micro surfacing	12/6/2017
FREDERICK ST	No	No	314	21	6594	732.7	16+ Years	Good	Good	None	Low	Low	None	Low	Crack seal	12/6/2017
GLENN AVE (from DSR to Martin Ave)	Yes	Yes	300	30	9000	1000.0	16+ Years	Fair	Poor	Medium	High	High	Low	Medium	FDR along w/ Martin Ave	12/6/2017
GLENN AVE (from Florin to Blossom Trail)	Yes	Yes	1110	30	33300	3700.0	16+ Years	Good	Poor	Low	Medium	Medium	Low	Medium	Mill, fabric, overlay, micro surfacing, Crack seal	12/6/2017
GRANDVIEW CIR	Yes	No	313	34	10642	1182.4	16+ Years	Excellent	Good	Low	Low	None	None	None	Crack seal and micro surfacing	12/7/2017
HEMP ST	No	No	222	12	2664	296.0	16+ Years	Poor	Poor	Medium	High	Medium	Low	High	Mill overlay fabric	12/7/2017
HILL ST (from N Angle to Orchard)	Yes	Partial	986	18	17748	1972.0	6-10 Years	Excellent	Excellent	None	Low	None	None	None	Crack seal and micro surfacing	12/7/2017
HILL ST (from N Plum to N Angle)	Yes	Partial	935	18	16830	1870.0	6-10 Years	Excellent	Excellent	None	Low	None	None	None	Crack seal and micro surfacing	12/7/2017
HOPEWELL ST (from 772 to Fairview)	No	No	418	17	7106	789.6	16+ Years	Fair	Poor	High	Medium	Medium	Low	High	Mill overlay fabric	12/7/2017
HOPEWELL ST (from Old Stand By to Fairview)	No	No	279	17	4743	527.0	6-10 Years	Good	Excellent	None	None	None	None	None	Crack seal	12/7/2017
ICE ST	No	No	219	24	5256	584.0	6-10 Years	Excellent	Excellent	None	None	None	None	Low	Crack seal	12/7/2017
JASMINE AVE	Yes	Yes	208	33	6864	762.7	3-5 Years	Excellent	Excellent	None	None	None	None	None	Crack seal and micro surfacing	12/6/2017
JOY AVE	No	No	264	22	5808	645.3	16+ Years	Good	Fair	Low	Low	None	None	High	Crack seal and micro surfacing	12/6/2017
LAUVER DR	No	No	328	12	3936	437.3	3-5 Years	Excellent	Excellent	None	None	None	None	None	Crack seal	12/13/2017
LEMON ST	No	No	239	15	3585	398.3	16+ Years	Good	Fair	Medium	Medium	Low	None	Medium	Reconstruction planned	12/7/2017
LIBERTY CT	Yes	Yes	423	30	12690	1410.0	16+ Years	Good	Fair	High	Medium	Low	None	Low	Mill fabric overlay	12/13/2017
LOCUST LN	Yes	Partial	1854	34	63036	7004.0	16+ Years	Fair	Poor	High	High	Medium	None	High	Reconstruction and take core samples	12/13/2017
LUMBER ST (from 772 to dead end)	Yes	Partial	1238	20	24760	2751.1	16+ Years	Good	Poor	High	High	Medium	Low	Low	Mill fabric and overlay	12/13/2017
LUMBER ST (from W Main to W Henry)	Yes	Yes	275	20	5500	611.1	16+ Years	Good	Fair	Medium	Medium	Low	None	None	FDR	12/13/2017
MARTIN AVE (from dead end to Florin)	Yes	Yes	630	30	18900	2100.0	16+ Years	Good	Fair	Medium	Medium	Low	None	Low	Reconstruction	12/13/2017

<u>Roadway Name</u>	Curbs	Sidewalks	Length	<u>Width</u>	Sq. Feet	Sq. Yds	<u>Age</u>	Drainage	Rating	Alligator	Longitudal	Transverse	Rutting	Patching	General Comments	Date Inspected
MARTIN AVE (from Florin to Farmview)	Yes	Yes	1580	34	53720	5968.9	16+ Years	Good	Fair	Medium	Medium	Low	None	Medium	Micro surfacing and reconstruction	12/13/2017
MIDWAY RD	Yes	Partial	869	34	29546	3282.9	16+ Years	Fair	Poor	High	High	Medium	None	Low	Reconstruction	12/13/2017
MOUNT JOY ST	Yes	Yes	1444	33	47652	5294.7	16+ Years	Good	Poor	Medium	Medium	Medium	Low	High	Mill overlay fabric	12/7/2017
N ANGLE ST (from Bruce to Terrace)	No	No	494	19	9386	1042.9	16+ Years	Good	Poor	High	High	Medium	Low	High	Reconstruction	12/13/2017
N ANGLE ST (from Hill to Main)	No	Partial	1687	26	43862	4873.6	16+ Years	Good	Poor	High	High	Medium	Medium	High	Reconstruction	12/13/2017
N ANGLE ST (from Terrace to Hill)	No	No	833	36	29988	3332.0	16+ Years	Good	Poor	High	High	Medium	Medium	High	Reconstruction	12/13/2017
N BARBARA ST (from 772 to Detwiler)	Yes	Partial	1236	28	34608	3845.3	16+ Years	Good	Poor	Medium	Medium	Low	Low	High	Mill overlay fabric	12/7/2017
N BARBARA ST (from Detwiler to E Main)	Yes	Yes	1232	28	34496	3832.9	16+ Years	Good	Poor	Medium	Low	Low	Low	High	Mill overlay fabric	12/7/2017
N HIGH ST	No	Partial	1413	32	45216	5024.0	16+ Years	Good	Fair	Low	Medium	None	None	High	Crack seal and Microsurface	12/7/2017
N JACOB ST	Yes	Partial	636	25	15900	1766.7	16+ Years	Fair	Poor	Medium	Medium	Low	None	High	Overlay Crack seal	12/18/2017
N MARKET AVE	Yes	Partial	1195	36	43020	4780.0	16+ Years	Good	Fair	Low	High	Low	None	Low	Crack sealing. Overlay	12/18/2017
N MARKET ST	Yes	Yes	3064	33	101112	11234.7	6-10 Years	Excellent	Good	None	Low	None	None	Low	Crack seal and Microsurface	12/18/2017
N PLUM ST (from Pleasure to Borough Line)	No	No	1258	18	22644	2516.0	16+ Years	Poor	Poor	High	High	High	Medium	Medium	Reconstruction	12/18/2017
N PLUM ST (from W Main to Pleasure Rd)	Yes	Partial	1719	29	49851	5539.0	16+ Years	Poor	Poor	High	High	Low	Low	High	Reconstruction	12/18/2017
NEW HAVEN ST (from 772 to Oak Aly)	Yes	No	214	34	7276	808.4	16+ Years	Good	Good	Medium	Low	Low	None	None	Base repair	12/18/2017
NEW HAVEN ST (from W Donegal to 772)	Yes	Yes	885	34	30090	3343.3	16+ Years	Good	Poor	High	High	High	Medium	High	Reconstruction	12/18/2017
NEW ST (from S Barbara to S Jacob)	No	No	895	28	25060	2784.4	16+ Years	Poor	Poor	High	Medium	High	None	Low	Reconstruction & widening	12/18/2017
NEW ST (from Walnut to S Barbara)	Yes	Partial	410	28	11480	1275.6	11-15 Years	Good	Good	Low	Low	None	None	None	Crack Seal and Microsurface	12/18/2017
NEWCOMER RD	Yes	Partial	473	19	8987	998.6	0-2 Years	Excellent	Excellent	None	None	None	None	None	Crack seal when needed and Microsurface	12/18/2017
OLD MARKET ST (from 772 to Borough Line)	No	Partial	480	32	15360	1706.7	0-2 Years	Excellent	Excellent	None	None	None	None	None	Crack Seal and Microsurface	12/18/2017
OLD MARKET ST (from N Market to 772)	Yes	Yes	845	25	21125	2347.2	16+ Years	Good	Fair	Low	Medium	None	None	Medium	Crack seal & micro surfacing	12/18/2017
ORANGE ST	No	No	617	17	10489	1165.4	16+ Years	Poor	Fair	High	Low	Low	Low	Low	Reconstruction & widening	12/18/2017
ORCHARD RD (from Bruce to Hill)	No	No	1075	20	21500	2388.9	16+ Years	Poor	Poor	High	Medium	Low	None	High	Reconstruction & widening	12/18/2017
ORCHARD RD (from Hill to W Main)	Yes	Yes	1384	36	49824	5536.0	11-15 Years	Good	Good	None	Medium	None	None	None	Crack sealing micro surfacing	12/18/2017
PARK AVE	No	No	2633	21	55293	6143.7	6-10 Years	Fair	Fair	Low	Low	None	Low	Medium	FDR	12/27/2017
PEACE AVE	Yes	Yes	636	34	21624	2402.7	11-15 Years	Good	Excellent	None	None	None	None	None	Crack seal and micro surfacing	12/28/2017
PINE ST	No	No	625	21	13125	1458.3	16+ Years	Fair	Fair	Medium	Low	Low	None	High	Micro surfacing	12/28/2017
PINKERTON RD	No	No	1820	18	32760	3640.0	16+ Years	Poor	Poor	High	High	High	Medium	High	FDR	12/28/2017

<u>Roadway Name</u>	Curbs	Sidewalks	Length	Width	Sq. Feet	Sq. Yds	<u>Age</u>	<u>Drainage</u>	Rating	Alligator	Longitudal	Transverse	Rutting	Patching	General Comments	Date Inspected
POPLAR ST	Yes	Yes	889	34	30226	3358.4	16+ Years	Good	Good	None	Low	None	None	Low	Crack seal & micro surfacing	12/27/2017
RICHLAND LN	No	No	1314	25	32850	3650.0	16+ Years	Fair	Poor	Medium	Medium	High	Medium	Low	FDR	12/27/2017
ROSE PETAL LN	Yes	Yes	1782	34	60588	6732.0	11-15 Years	Good	Excellent	None	Low	None	None	None	Crack seal and Microsurface	12/28/2017
S BARBARA ST	Yes	Yes	1304	34	44336	4926.2	11-15 Years	Good	Good	Low	Low	Low	None	Low	Micro surfacing and Crack seal	12/27/2017
S HIGH ST (from E Donegal to South Aly)	Yes	Yes	214	29	6206	689.6	11-15 Years	Fair	Fair	High	Low	Low	None	None	Mill overlay	12/27/2017
S HIGH ST (from E Main to Sassafras Aly)	Yes	Partial	223	33	7359	817.7	16+ Years	Fair	Poor	High	Medium	Medium	Low	Medium	Mill and overlay	12/27/2017
S JACOB ST (from dead end to Borough Line)	Yes	Partial	1418	37	52466	5829.6	16+ Years	Poor	Poor	High	High	High	High	High	FDR	12/27/2017
S JACOB ST (from E Main to Sassafras Aly)	Yes	Yes	222	37	8214	912.7	16+ Years	Good	Good	Low	Low	None	None	Low	Mill and overlay	12/28/2017
S MARKET AVE (from dead end to Wood)	Yes	Yes	262	20	5240	582.2	3-5 Years	Excellent	Excellent	None	None	None	None	None	Crack Seal	12/28/2017
S MARKET AVE (from W Main to dead end)	Yes	Yes	589	34	20026	2225.1	11-15 Years	Excellent	Excellent	None	None	None	None	None	Crack sealing	12/27/2017
S MARKET AVE (from Wood to DSR)	Yes	Partial	1617	20	32340	3593.3	16+ Years	Fair	Poor	Medium	Medium	Medium	Medium	High	FDR	12/28/2017
S MARKET ST (from 230 to 772)	Yes	Yes	660	36	23760	2640.0	16+ Years	Good	Good	Low	Medium	None	Low	None	Mill overlay	12/27/2017
S MARKET ST (from 772 to dead end)	Yes	Partial	1483	36	53388	5932.0	6-10 Years	Good	Excellent	None	Low	None	None	None	Crack seal and Microsurface	12/27/2017
S MELHORN DR	Yes	No	305	33	10065	1118.3	11-15 Years	Excellent	Good	None	Low	None	None	Low	Crack Seal	12/28/2017
S PLUM ST (from dead end to Wood)	Yes	Partial	238	32	7616	846.2	16+ Years	Fair	Fair	Low	Low	Low	Low	Low	Mill and overlay	12/28/2017
S PLUM ST (from Wood to DSR)	Yes	Yes	1906	32	60992	6776.9	0-2 Years	Excellent	Excellent	None	None	None	None	None	Crack Seal & micro surfacing	12/28/2017
S PLUMB ST (from W Main to Square St)	No	Partial	693	22	15246	1694.0	16+ Years	Fair	Poor	Low	Medium	None	Medium	High	FDR	12/27/2017
SCHOOL LN (from 772 to Pinkerton)	Yes	No	1630	32	52160	5795.6	16+ Years	Good	Poor	High	High	High	Low	High	FDR	12/27/2017
SCHOOL LN (from Blossom Trail to 772)	Yes	Partial	1247	40	49880	5542.2	11-15 Years	Good	Good	Medium	Low	None	None	Low	Base repair & micro surfacing & Crack seal	12/27/2017
SCHOOL LN (from dead end to Blossom Trail)	Yes	No	1258	40	50320	5591.1	11-15 Years	Good	Excellent	None	Low	None	None	None	Crack seal and Microsurface	12/27/2017
SCHOOL LN (from Pinkerton to S Market)	Yes	No	1027	22	22594	2510.4	16+ Years	Poor	Poor	High	Medium	High	Medium	High	FDR	12/27/2017
SCHOOL LN (from S Market to dead end)	No	No	509	22	11198	1244.2	16+ Years	Poor	Poor	High	High	High	Medium	High	FDR	12/27/2017
SELLER LN	No	No	427	15	6405	711.7	3-5 Years	Good	Excellent	None	Low	None	None	None	Crack seal	12/28/2017
SPRINGVILLE RD	No	No	998	20	19960	2217.8	16+ Years	Fair	Poor	High	Medium	High	None	Medium	Mill and overlay	12/28/2017
SQUARE ST (from dead end to S Angle bridge)	No	Partial	1397	18	25146	2794.0	16+ Years	Fair	Poor	High	Low	Low	High	Low	FDR	12/27/2017
SQUARE ST (from S Angle bridge to Orange)	No	No	725	18	13050	1450.0	16+ Years	Good	Fair	Low	Low	Low	Low	High	Crack sealing and Microsurface	12/27/2017
STAUFER CT	Yes	No	583	30	17490	1943.3	16+ Years	Good	Poor	High	Medium	Medium	None	High	FDR	1/10/2018
SUNSET AVE	Yes	Yes	474	30	14220	1580.0	16+ Years	Good	Poor	High	High	Medium	None	High	FDR	1/10/2018

<u>Roadway Name</u>	Curbs	Sidewalks	<u>Length</u>	Width	Sq. Feet	Sq. Yds	<u>Age</u>	Drainage	Rating	Alligator	Longitudal	Transverse	Rutting	Patching	General Comments	Date Inspected
TAYLOR AVE	Yes	Yes	535	34	18190	2021.1	0-2 Years	Excellent	Excellent	None	None	None	None	None	Crack seal and Microsurface	1/10/2018
TERRACE AVE	Yes	No	1660	29	48140	5348.9	16+ Years	Fair	Poor	High	Medium	Medium	None	Low	FDR	1/10/2018
W DONEGAL ST (from both sides of DSR)	Yes	Partial	906	30	27180	3020.0	16+ Years	Fair	Poor	High	Medium	Low	Low	High	Drainage, FDR	1/10/2018
W DONEGAL ST (from New Haven to Market)	Yes	Yes	1038	30	31140	3460.0	6-10 Years	Excellent	Good	None	Low	None	None	Low	Crack Seal & Microsurface	1/10/2018
W HENRY ST (from dead end to New Haven)	No	No	933	18	16794	1866.0	0-2 Years	Excellent	Excellent	None	None	None	None	None	Crack Seal	1/10/2018
W HENRY ST (from New Haven to S Market)	No	No	1035	18	18630	2070.0	16+ Years	Poor	Poor	High	High	High	Low	High	Current train station project	1/10/2018
WALNUT ST	No	No	660	19	12540	1393.3	16+ Years	Poor	Poor	High	High	Medium	None	Medium	FDR	1/10/2018
WATER ST (from Alden to N Plum)	No	Partial	1088	24	26112	2901.3	3-5 Years	Good	Good	None	Medium	None	None	None	Crack seal and Microsurface	1/10/2018
WATER ST (from N Angle to dead end)	No	No	275	18	4950	550.0	6-10 Years	Fair	Poor	High	Medium	Medium	None	Low	FDR	1/10/2018
WATER ST (from N Plum to N Angle)	No	Partial	932	18	16776	1864.0	16+ Years	Fair	Poor	Medium	Medium	Low	Low	Medium	FDR and widen	1/10/2018
WOOD ST (from Chocolate to Florin)	No	No	944	10	9440	1048.9	16+ Years	Poor	Poor	High	High	Low	Low	Low	FDR	1/10/2018
WOOD ST (from Musser to S Plum)	Yes	Partial	2039	34	69326	7702.9	6-10 Years	Fair	Fair	Medium	Medium	Low	None	Low	FDR	1/10/2018
WOOD ST (from S Plum to Chocolate)	Yes	Partial	1817	34	61778	6864.2	16+ Years	Poor	Poor	High	High	Medium	None	High	FDR	1/10/2018
ZIEGLER ST	No	No	381	30	11430	1270.0	16+ Years	Good	Fair	Medium	Low	Low	None	Medium	Crack seal. Mill fabric overlay	1/10/2018